Date	Project	Task	Notes	Hours	Rate	Amount	Name
1/18/23	SDGE 2024 Phase 2	General Participation	Review application; notes re: same	1.0	\$715	\$715.00	FILED 水溶疗性 10:35 AM
1/18/23	SDGE 2024 Phase 2	MBL	Review Medical Baseline proposal; conf. w/ A. Green re: legal research for response	0.4	\$715	\$286.00	A2301008 Kasnitz
2/14/23	SDGE 2024 Phase 2	MBL	Conf w/ A. Green re: protest	0.2	\$715	\$143.00	Kasnitz
2/15/23	SDGE 2024 Phase 2	MBL	Review & edit draft protest	0.5	\$715	\$357.50	Kasnitz
2/16/23	SDGE 2024 Phase 2	MBL	Conf. w/ A. Green re: strategy for discovery on MBL/medical discount issues	0.2	\$715	\$143.00	Kasnitz
2/27/23	SDGE 2024 Phase 2	General Participation	Review party protests/responses	0.2	\$715	\$143.00	Kasnitz
3/2/23	SDGE 2024 Phase 2	MBL	Conf. w/ A. Green re: preparation of data requests on MB/medical discount issues	0.2	\$715	\$143.00	Kasnitz
3/2/23	SDGE 2024 Phase 2	Settlement	Email exchange w/ R. Hanson (SDG&E) re: request for settlement discussions	0.1	\$715	\$71.50	Kasnitz
3/19/23	SDGE 2024 Phase 2	General Participation	Review SDGE response to protests	0.2	\$715	\$143.00	Kasnitz
3/23/23	SDGE 2024 Phase 2	Settlement	Follow up w/ SDG&E re: potential settlement discussions on MBL issues	0.2	\$715	\$143.00	Kasnitz
3/31/23	SDGE 2024 Phase 2	Settlement	Follow up w/ SDGE following cancellation of settlement meeting	0.2	\$715	\$143.00	Kasnitz
4/11/23	SDGE 2024 Phase 2	MBL	Prep for settlement call on MBL/Medical Discount issue; conf. w/ A. Green re: same	0.7	\$715	\$500.50	Kasnitz
4/11/23	SDGE 2024 Phase 2	MBL	Attend settlement call w/ SDGE re: MBL proposals	0.6	\$715	\$429.00	Kasnitz

4/11/23	SDGE 2024 Phase 2	MBL	Conf. w/ A. Green re: next steps & discovery issues	0.3	\$715	\$214.50	Kasnitz
4/18/23	SDGE 2024 Phase 2	MBL	Review & edit draft DRs re: Med Baseline calculations	0.3	\$715	\$214.50	Kasnitz
4/26/23	SDGE 2024 Phase 2	General Participation	Review notice scheduling PHC	0.1	\$715	\$71.50	Kasnitz
4/27/23	SDGE 2024 Phase 2		Email exchange w/ SDGE re: potential request to reschedule PHC due to conflict	0.2	\$715	\$143.00	Kasnitz
4/27/23	SDGE 2024 Phase 2	General Participation	Draft procedural email to ALJ requesting alternative date for PHC	0.2	\$715	\$143.00	Kasnitz
5/1/23	SDGE 2024 Phase 2	General Participation	Review updated notice rescheduling PHC	0.1	\$715	\$71.50	Kasnitz
5/10/23	SDGE 2024 Phase 2	General Participation	Call w/ A. Green re: prep for PHC	0.3	\$715	\$214.50	Kasnitz
5/11/23	SDGE 2024 Phase 2	General Participation	Update from A. Green re: PHC	0.2	\$715	\$143.00	Kasnitz
6/5/23	SDGE 2024 Phase 2	General Participation	Review Scoping Memo; notes re: same	0.4	\$715	\$286.00	Kasnitz
6/12/23	SDGE 2024 Phase 2		Party procedural email exchange re: request for modification of schedule	0.2	\$715	\$143.00	Kasnitz
6/16/23	SDGE 2024 Phase 2	General Participation	Review Cal Advocates motion to amend schedule	0.1	\$715	\$71.50	Kasnitz

6/27/23	SDGE 2024 Phase 2	General Participation	Party email exchange re: ruling requesting further testimony from SDG&E and SDGE request to modify schedule	0.3	\$715	\$214.50	Kasnitz
7/21/23	SDGE 2024 Phase 2	General Participation	Review email ruling in response to SDGE mtotion to extend deadline	0.1	\$715	\$71.50	Kasnitz
7/27/23	SDGE 2024 Phase 2	General Participation	Review Cal Advocates email re: further modifications to schedule; review party responses & send response for CforAT	0.2	\$715	\$143.00	Kasnitz
8/2/23	SDGE 2024 Phase 2	General Participation	Review ruling further modifying procedural schedule; notes re:same	0.2	\$715	\$143.00	Kasnitz
8/24/23	SDGE 2024 Phase 2	MBL	Email exchange w/ Cal Advocates & TURN re: coordination on medical baseline issues	0.2	\$715	\$143.00	Kasnitz
8/31/23	SDGE 2024 Phase 2	MBL	Call w/ Cal Advocates & TURN re: Medical Baseline/Medical Discount issues & strategies for addressing in testimony/settlement efforts	0.8	\$715	\$572.00	Kasnitz
8/31/23	SDGE 2024 Phase 2	MBL	Follow up re: review of existing discovery on MB/Medical Discount issues	0.7	\$715	\$500.50	Kasnitz
9/29/23	SDGE 2024 Phase 2	General Participation	Review ruling re: PPHs and schedule	0.2	\$715	\$143.00	Kasnitz
9/29/23	SDGE 2024 Phase 2	General Participation	Email exchange w/ consumer advocates re: revised schedule and coordination	0.2	\$715	\$143.00	Kasnitz
9/29/23	SDGE 2024 Phase 2	General Participation	Brief review of revised testimony	0.5	\$715	\$357.50	Kasnitz
10/23/23	SDGE 2024 Phase 2	MBL	Email exchange w/ consumer advocates re: coordination on medical baseline proposals	0.2	\$715	\$143.00	Kasnitz

10/25/23	SDGE 2024 Phase 2	MBL	Attend meeting w/ Cal Advocates & TURN re: MBL issues; review meeting materials	1.2	\$715	\$858.00	Kasnitz
10/26/23	SDGE 2024 Phase 2	MBL	Review TURN's questions & Cal Advocates responses re: data shared at MBL meeting	0.2	\$715	\$143.00	Kasnitz
12/13/23	SDGE 2024 Phase 2	General Participation	Review Cal Advocates testimony; notes re: same	1.5	\$715	\$1,072.50	Kasnitz
12/19/23	SDGE 2024 Phase 2	General Participation	Review SDGE request for extension of time	0.1	\$715	\$71.50	Kasnitz
12/19/23	SDGE 2024 Phase 2	Settlement	Review SDGE request for party settlement conference	0.1	\$715	\$71.50	Kasnitz

Totals 2023: 13.8 \$9,867.00

Date	Project	Task	Notes	Hours	Rate	Amount	Name
1/2/24	SDGE 2024 Phase 2	Settlement	Email exchange w/ R. Hansson re: availability for settlement conference	0.2	\$735	\$147.00	Kasnitz
1/4/24	SDGE 2024 Phase 2	MBL	Party email exchange re: settlement meeting focused on medical discount issue	0.2	\$735	\$147.00	Kasnitz
1/4/24	SDGE 2024 Phase 2	General Participation	Review ruling adjusting schedule	0.2	\$735	\$147.00	Kasnitz
1/5/24	SDGE 2024 Phase 2	MBL	Outline testimony on Medical Baseline/Medical Disount issues	0.6	\$735	\$441.00	Kasnitz
1/8/24	SDGE 2024 Phase 2	MBL	Draft Testimony on Medical Baseline/Medical Discount issues	3.2	\$735	\$2,352.00	Kasnitz
1/9/24	SDGE 2024 Phase 2	MBL	Review DR from SDGE re: workpapers for testimony	0.2	\$735	\$147.00	Kasnitz
1/12/24	SDGE 2024 Phase 2	Settlement	Party email exchange re: settlement meetings & summary of discussion	0.3	\$735	\$220.50	Kasnitz
1/16/24	SDGE 2024 Phase 2	Settlement	Party email exchange re: schedule for settlement discussions & updated settlement document	0.2	\$735	\$147.00	Kasnitz
1/18/24	SDGE 2024 Phase 2	Settlement	Draft edits to global settlement document reflecting corrections re: CforAT's position	0.4	\$735	\$294.00	Kasnitz
1/18/24	SDGE 2024 Phase 2	Settlement	Review party revisions regarding record of positions in global settlement document	0.2	\$735	\$147.00	Kasnitz
1/19/24	SDGE 2024 Phase 2	Settlement	Review updated global settlement document	0.2	\$735	\$147.00	Kasnitz
1/23/24	SDGE 2024 Phase 2	MBL	Attend settlement call on Medical Baseline/Medical Discount issue	1.0	\$735	\$735.00	Kasnitz
1/24/24	SDGE 2024 Phase 2	Settlement	Attend global settlement call	1.3	\$735	\$955.50	Kasnitz
1/24/24	SDGE 2024 Phase 2	General Participation	Review DR-2 from SDGE re: all DRs issued & responses received by CforAT	0.2	\$735	\$147.00	Kasnitz

1/24/24	SDGE 2024 Phase 2	MBL	Email exchange w/ TURN & UCAN re: TURN's position on allocation of costs of MB program	0.2	\$735	\$147.00	Kasnitz
1/30/24	SDGE 2024 Phase 2	MBL	Call w/ B. Monsen (City of SD) re: Med Baseline/Med Discount testimony	0.4	\$735	\$294.00	Kasnitz
1/30/24	SDGE 2024 Phase 2	MBL	Email exchange w/ FEA re: workpapers in support of testimony	0.2	\$735	\$147.00	Kasnitz
1/30/24	SDGE 2024 Phase 2	MBL	Attend settlement call on MB/MD issues	0.7	\$735	\$514.50	Kasnitz
1/30/24	SDGE 2024 Phase 2	MBL	Prep for MBL settlement call	0.3	\$735	\$220.50	Kasnitz
1/30/24	SDGE 2024 Phase 2	MBL	Follow up from MBL settlement discussion w/ UCAN & City of SD	0.3	\$735	\$220.50	Kasnitz
1/31/24	SDGE 2024 Phase 2	Settlement	Review updated settlement documents & proposal for next steps from SDGE	0.4	\$735	\$294.00	Kasnitz
2/2/24	SDGE 2024 Phase 2	MBL	Call w/ J. Krekorian (UCAN) re: MB proposals, rebuttal testimony & settlement	0.5	\$735	\$367.50	Kasnitz
2/2/24	SDGE 2024 Phase 2	MBL	Conf. w/ R. Sweetnam re: drafting discovery on glidepath bill impacts	0.3	\$735	\$220.50	Kasnitz
2/5/24	SDGE 2024 Phase 2	MBL	Review & edit draft DRs re: bill impacts of proposed MB reduction glidepaths	0.3	\$735	\$220.50	Kasnitz
2/7/24	SDGE 2024 Phase 2	MBL	Draft DR set 2 re: bill impacts	0.8	\$735	\$588.00	Kasnitz
2/7/24	SDGE 2024 Phase 2	MBL	Coordinate w/ intervenors re: rebuttal testimony addressing MB/Medical Discount issues	0.3	\$735	\$220.50	Kasnitz
2/7/24	SDGE 2024 Phase 2	General Participation	Review party rebuttal testimony	1.0	\$735	\$735.00	Kasnitz
2/8/24	SDGE 2024 Phase 2	MBL	Review SDG&E rebuttal testimony re: MB/Med Discount issue; notes re: same & implications for pending DRs	0.4	\$735	\$294.00	Kasnitz

			-				
2/8/24	SDGE 2024 Phase 2	MBL	Email exchange w/ R. Hansson re: potential modification of pending DRs in light of SDG&E rebuttal testimony	0.2	\$735	\$147.00	Kasnitz
2/8/24	SDGE 2024 Phase 2	General Participation	Party email exchange re: required M&C following rebuttal testimony	0.2	\$735	\$147.00	Kasnitz
2/12/24	SDGE 2024 Phase 2	Settlement	Attend general settlement call (left early after confirming no discussion on MB issues)	0.5	\$735	\$367.50	Kasnitz
2/14/24	SDGE 2024 Phase 2		Attend M&C re: prehearing submissions & potential request for extension for further settlement discussions	0.8	\$735	\$588.00	Kasnitz
2/15/24	SDGE 2024 Phase 2	Settlement	Review updated settlement documents & draft status report from SDGE	0.2	\$735	\$147.00	Kasnitz
2/16/24	SDGE 2024 Phase 2	General Participation	Review email ruling noticng status conference	0.2	\$735	\$147.00	Kasnitz
2/21/24	SDGE 2024 Phase 2	MBL	Review draft status conference statement from SDGE; propose edits for issues relevant to CforAT/MBL issues	0.4	\$735	\$294.00	Kasnitz
2/21/24	SDGE 2024 Phase 2	General Participation	Attend party M&C re: preparation of status conference statement	2.0	\$735	\$1,470.00	Kasnitz
2/22/24	SDGE 2024 Phase 2	General Participation	Review revised draft status conference statement & party email exchange re: same (including direct exchange w/ TURN re: coordination)	0.3	\$735	\$220.50	Kasnitz
2/26/24	SDGE 2024 Phase 2	General Participation	Prep for Status Conference	0.2	\$735	\$147.00	Kasnitz
2/26/24	SDGE 2024 Phase 2	General Participation	Attend Status Conference re: hearings & potential for settlement	1.0	\$735	\$735.00	Kasnitz

2/26/24	SDGE 2024 Phase 2	MBL	Call w/ UCAN & City of SD re: potential settlement of MBL issues	0.4	\$735	\$294.00	Kasnitz
2/26/24	SDGE 2024 Phase 2	MBL	Follow up w/ UCAN & City of SD re: DR responses providing bill impacts	0.3	\$735	\$220.50	Kasnitz
2/26/24	SDGE 2024 Phase 2	MBL	Email exchange w/ Cal Advocates re: potential reconsideration of settlement position	0.2	\$735	\$147.00	Kasnitz
3/4/24	SDGE 2024 Phase 2	MBL	Review SDG&E quarterly Affordability filing re: increases in authorized revenue; notes re: same re: potential impact for MB customers	0.5	\$735	\$367.50	Kasnitz
3/6/24	SDGE 2024 Phase 2	MBL	Email exchange w/ TURN re: TURN's position on MB issues	0.2	\$735	\$147.00	Kasnitz
3/6/24	SDGE 2024 Phase 2	MBL	Call w/ J. Krekorian (UCAN) re: anticipated settlement among other parties re: Medical Baseline issues & strategy for response	0.4	\$735	\$294.00	Kasnitz
4/15/24	SDGE 2024 Phase 2	General Participation	Review ruling re: second status conference	0.2	\$735	\$147.00	Kasnitz
4/25/24	SDGE 2024 Phase 2	General Participation	Review materials in advance of Status Conference	0.2	\$735	\$147.00	Kasnitz
4/25/24	SDGE 2024 Phase 2	General Participation	Attend Status Conference	1.1	\$735	\$808.50	Kasnitz
4/30/24	SDGE 2024 Phase 2	MBL	Review procedural emails re: potential later hearing date & confirm to ALJ that CforAT is not requesting hearings as long as requested documents are stipulated	0.2	\$735	\$147.00	Kasnitz
5/1/24	SDGE 2024 Phase 2	MBL	Email exchange w/ ALJ & interested parties about stipulation of entry of evidence into record & waiving hearings on MB issue	0.2	\$735	\$147.00	Kasnitz

5/7/24	SDGE 2024 Phase 2	General Participation	Review ruling modifying the procedural schedule	0.2	\$735	\$147.00	Kasnitz
5/7/24	SDGE 2024 Phase 2	MBL	Email exchange w/ City of SD re: rejection of MBL settlement & next steps for contesting settlement	0.3	\$735	\$220.50	Kasnitz
5/8/24	SDGE 2024 Phase 2	MBL	Review email exchange between ALJ & SDGE re: ruling admitting documents into record	0.2	\$735	\$147.00	Kasnitz
5/9/24	SDGE 2024 Phase 2	Settlement	Review procedural exchanges re: process and timelines for settlements & challenges to be submitted	0.3	\$735	\$220.50	Kasnitz
5/10/24	SDGE 2024 Phase 2	Settlement	Review procedural updates re: settlements & record completion	0.2	\$735	\$147.00	Kasnitz
5/10/24	SDGE 2024 Phase 2	MBL	Conf. w/ K. Woodford re: preparing materials for submission as exhibits	0.2	\$735	\$147.00	Kasnitz
5/14/24	SDGE 2024 Phase 2	General Participation	Review ruling re: potential hearings on CCA issues	0.1	\$735	\$73.50	Kasnitz
5/15/24	SDGE 2024 Phase 2	MBL	Review draft joint motion to enter exhibits into the record & email exchange w/ SDGE re: CforAT exhibits	0.3	\$735	\$220.50	Kasnitz
5/20/24	SDGE 2024 Phase 2	MBL	Review CforAT exhibits & information in draft motion to set record	0.3	\$735	\$220.50	Kasnitz
5/20/24	SDGE 2024 Phase 2	General Participation	Email exchange w/ R. Hansson (SDGE) re: procedural next steps	0.2	\$735	\$147.00	Kasnitz
5/23/24	SDGE 2024 Phase 2	Settlement	Review procedural email exchange re: timing of filing settlement motions	0.2	\$735	\$147.00	Kasnitz
5/23/24	SDGE 2024 Phase 2	MBL	Email exchange w/ UCAN re: coordination in opposition to MBL settlement	0.2	\$735	\$147.00	Kasnitz
5/28/24	SDGE 2024 Phase 2	Settlement	Review general settlement & motion in support of adoption of general settlement	0.5	\$735	\$367.50	Kasnitz
5/30/24	SDGE 2024 Phase 2	Settlement	Party email exchange re: request to extend briefing deadlines/deadlines for settlement comments	0.2	\$735	\$147.00	Kasnitz

6/5/24	SDGE 2024 Phase 2	MBL	Review Med. Baseline Settlement Motion; notes re: same for opposition	1.0	\$735	\$735.00	Kasnitz
6/7/24	SDGE 2024 Phase 2	MBL	Review email ruling entering exhibits into record	0.2	\$735	\$147.00	Kasnitz
6/25/24	SDGE 2024 Phase 2	MBL	Email exchange w/ City of SD re: coordination on comments on opposition to MBL settlement	0.2	\$735	\$147.00	Kasnitz
6/28/24	SDGE 2024 Phase 2	MBL	Email exchange w/ UCAN re: coordination on comments in opposition to MBL settlement	0.2	\$735	\$147.00	Kasnitz
7/1/24	SDGE 2024 Phase 2	MBL	Outline opposition to MBL settlement motion	1.1	\$735	\$808.50	Kasnitz
7/1/24	SDGE 2024 Phase 2	MBL	Draft opposition to MBL Settlement Motion	4.2	\$735	\$3,087.00	Kasnitz
7/2/24	SDGE 2024 Phase 2	MBL	Draft opposition to MBL Settlement Motion	2.7	\$735	\$1,984.50	Kasnitz
7/3/24	SDGE 2024 Phase 2	MBL	Draft opposition to MBL Settlement Motion; incorporate feedback from UCAN and CSD	3.5	\$735	\$2,572.50	Kasnitz
7/23/24	SDGE 2024 Phase 2	MBL	Review joint reply in support of MB settlement	0.4	\$735	\$294.00	Kasnitz
7/24/24	SDGE 2024 Phase 2	General Participation	Review email exchange re: upcoming ruling updating procedural schedule	0.2	\$735	\$147.00	Kasnitz
8/2/24	SDGE 2024 Phase 2	General Participation	Review ruling re: party briefs & subsequent party email exchange re: request for clarification	0.3	\$735	\$220.50	Kasnitz
11/19/24	SDGE 2024 Phase 2	General Participation	Review ruling requesting comments on staff proposal	0.2	\$735	\$147.00	Kasnitz
12/4/24	SDGE 2024 Phase 2	General Participation	Review joint motion for reconsideration re: staff proposal	0.2	\$735	\$147.00	Kasnitz

Totals 2024: 42.2 \$31,017.00

Date	Project	Task	Notes	Hours	Rate	Amount	Name
6/23/25	SDGE 2024 Phase 2		Party email exchanger re: email ruling addressing outstanding exhibits	0.2	\$755	\$151.00	Kasnitz
8/13/25	SDGE 2024 Phase 2	MBL	Review PD adopting settlement exhibits; notes re: same for comment on MBL agreement	1.1	\$755	\$830.50	Kasnitz
8/29/25	SDGE 2024 Phase 2	MBL	Draft comments on PD re: MBL settlement	2.1	\$755	\$1,585.50	Kasnitz
9/1/25	SDGE 2024 Phase 2	MBL	Draft comments on PD re: MBL settlement	1.8	\$755	\$1,359.00	Kasnitz
9/2/25	SDGE 2024 Phase 2	MBL	Draft comments on PD, incl. proposed FOF/COL revisions	3.5	\$755	\$2,642.50	Kasnitz
9/2/25	SDGE 2024 Phase 2	MBL	Review party comments on PD; notes re: same for potential reply comments	0.4	\$755	\$302.00	Kasnitz
9/8/25	SDGE 2024 Phase 2	MBL	Review party reply comments on PD	0.2	\$755	\$151.00	Kasnitz
9/16/25	SDGE 2024 Phase 2	MBL	Review PD Rev. 1 for potential additional action	0.2	\$755	\$151.00	Kasnitz

Totals 2025: 9.5 \$7,172.50

Center for Accessible Technology SDGE 2024 Ph 2 A.23-01-008 Alexandra Green 2023 Merits Time

Date	Project	Task	Notes	Hours	Rate	Amount	Name
1/18/23	SDGE 2024 Phase 2	MBL	Review SDG&E's application & Medical Baseline proposal; conf. w/ M. Kasnitz re: same	0.4	\$220	\$88.00	Green
1/18/23	SDGE 2024 Phase 2	MBL	Review MBL statute; notes re: same	0.5	\$220	\$110.00	Green
1/31/23	SDGE 2024 Phase 2	MBL	Draft protest to application	1.2	\$220	\$264.00	Green
2/1/23	SDGE 2024 Phase 2	MBL	Draft protest to application	0.25	\$220	\$55.00	Green
2/6/23	SDGE 2024 Phase 2	MBL	Draft protest re changes to Medical Baseline	0.7	\$220	\$154.00	Green
2/7/23	SDGE 2024 Phase 2	MBL	Draft protest to application about changes to Medical Baseline	0.15	\$220	\$33.00	Green
2/14/23	SDGE 2024 Phase 2	MBL	Draft protest to application	0.5	\$220	\$110.00	Green
2/14/23	SDGE 2024 Phase 2	MBL	Discussion with M. Kasnitz re: protest to application	0.2	\$220	\$44.00	Green
2/15/23	SDGE 2024 Phase 2	MBL	Revise protest to application per feedback	2.2	\$220	\$484.00	Green
2/16/23	SDGE 2024 Phase 2	MBL	Conf. w/ M. Kasnitz re: discovery on MBL issues	0.2	\$220	\$44.00	Green
3/2/23	SDGE 2024 Phase 2	MBL	Draft outline for data requests	0.4	\$220	\$88.00	Green
3/2/23	SDGE 2024 Phase 2	MBL	Conf. w/ M. Kasnitz re: discovery on MBL issues	0.2	\$220	\$44.00	Green
4/11/23	SDGE 2024 Phase 2	MBL	Conf. w/ M. Kasntiz re: prep for settlement call re: MBL issues	0.3	\$220	\$66.00	Green
4/11/23	SDGE 2024 Phase 2	MBL	Prepare for settlement meeting with SDG&E re: MBL issues	0.3	\$220	\$66.00	Green
4/11/23	SDGE 2024 Phase 2	MBL	Attend meeting with SDG&E re: MBL proposals	0.6	\$220	\$132.00	Green

Center for Accessible Technology SDGE 2024 Ph 2 A.23-01-008 Alexandra Green 2023 Merits Time

4/11/23	SDGE 2024 Phase 2	MBL	Conf. w/ M. Kasnitz re: discovery on MBL issues	0.3	\$220	\$66.00	Green
4/12/23	SDGE 2024 Phase 2	MBL	Draft data requests for SDG&E	0.3	\$220	\$66.00	Green
4/13/23	SDGE 2024 Phase 2	MBL	Draft data requests for SDG&E	0.5	\$220	\$110.00	Green
4/18/23	SDGE 2024 Phase 2	MBL	Revise draft data request per feedback from M. Kasnitz	0.5	\$220	\$110.00	Green
4/19/23	SDGE 2024 Phase 2	MBL	Revise data request for SDG&E	0.2	\$220	\$44.00	Green
5/9/23	SDGE 2024 Phase 2	General Participation	Review Email ruling & agenda for PHC	0.2	\$220	\$44.00	Green
5/10/23	SDGE 2024 Phase 2	General Participation	Prepare for PHC; call w/ M. Kasnitz re: same	0.5	\$220	\$110.00	Green
5/10/23	SDGE 2024 Phase 2	General Participation	Attend pre-hearing conference	1.9	\$220	\$418.00	Green
5/11/23	SDGE 2024 Phase 2	General Participation	Conf. w/ M.Kasnitz re: PHC	0.2	\$220	\$44.00	Green

Totals 2023: 12.7 \$2,794.00

Center for Accessible Technology SDGE 2024 Ph 2 A.23-01-008 Rachel Sweetnam 2024 Merits Time

Date	Project	Task	Notes	Hours	Rate	Amount	Name
2/2/24	SDGE 2024 Phase 2	MBL	Conf. with M. Kasnitz re: data request to SDGE	0.3	\$240	\$72.00	Sweetnam
2/2/24	SDGE 2024 Phase 2	MBL	Draft data request to SDGE re: bill impacts of proposed MBL reduction glidepath	0.5	\$240	\$120.00	Sweetnam
2/5/24	SDGE 2024 Phase 2	MBL	Revise data request to SDGE per feedback	0.5	\$240	\$120.00	Sweetnam
2/6/24	SDGE 2024 Phase 2	MBL	Review party DRs & responses (via discovery portal)	1.0	\$240	\$240.00	Sweetnam
2/23/24	SDGE 2024 Phase 2	MBL	Review SDG&E DR responses	0.2	\$240	\$48.00	Sweetnam
2/23/24	SDGE 2024 Phase 2	General Participation	Review joint status update	0.1	\$240	\$24.00	Sweetnam
2/26/24	SDGE 2024 Phase 2	General Participation	Attend status conference	1.0	\$240	\$240.00	Sweetnam
5/13/24	SDGE 2024 Phase 2	MBL	Review response to DRs; prepare same for inclusion in the record	0.4	\$240	\$96.00	Sweetnam
5/14/24	SDGE 2024 Phase 2	MBL	Review CforAT exhibits for background	0.3	\$240	\$72.00	Sweetnam

Totals 2024: 4.3 \$1,032.00

Center for Accessible Technology SDGE 2024 Ph 2 A.23-01-008 Fee Time

Date	Project	Task	Notes	Hours	Rate	Amount	Name
6/7/23	SDGE 2024 Phase 2	Fees	Draft NOI	0.6	\$110.00	\$66.00	Green
6/9/23	SDGE 2024 Phase 2	Fees	Draft NOI	0.4	\$357.50	\$143.00	Kasnitz

Fee Time 2023: 1 \$209.00

11/17/25	SDGE 2024 Phase 2	Fees	Draft compensation request	1.7	\$377.50	\$641.75	Kasnitz
11/18/25	SDGE 2024 Phase 2	Fees	Draft compensation request	1.1	\$377.50	\$415.25	Kasnitz
11/19/25	SDGE 2024 Phase 2	Fees	Draft compensation request	2.3	\$377.50	\$868.25	Kasnitz
11/20/25	SDGE 2024 Phase 2	Fees	Draft compensation request	3.5	\$377.50	\$1,321.25	Kasnitz
11/21/25	SDGE 2024 Phase 2	Fees	Draft compensation request	1.8	\$377.50	\$679.50	Kasnitz

Fee Time 2025: 10.4 \$3,926.00